Nrdle=a
TA—AF—SBARER

FGS-50L
kRS

MR EICTHEANEEEOIC

COEURRE=ZTYIRSATT/OO—RRBEBEVRO W EERICHYAESTENVES, )
CORIKGRBAEIE. HRADHEZTDICRESE, RECTHEAVEEHIZ, TEARICD T BFHATEE,
COBREEGRBAETIE., REFBFREDIVIZE [BIR]. [EE] B&U MNERE] ELTRALTVET,

364-23-089-1

BRER S EICRTFERFEGZRSIBIRGRENELHIEABESN.,
MORREARDEENDRSNE THEDEEV) NEVRENGES.

A\ &
A\
A

H &M= iR ZE S-SR EEEEESBRAREAELI L EES
= = n3sa,

2I== RIS S ICBEEAIAEEMBHIBE DA AR ET ARBIEIIKE
Pm o A RELB LA EEESNDIBE.

4 #

U;B’I (=] [CERHL-FETHRRICE O TIERGHERIEV OATREELSHYET,
Y /m TN

WThLEBETAREZEHLTEYET DT, BT FoTLEELY,

OBFAITE>=dHEld. BEWVILEEIANNDTHLRONSEIAIZHTREL TZELY,

@)

L<EED

[ R4 EETA ]

COHRBEELLREITBFEVN W0, CEROHENICL T IRIRGRAEE
FLBHRAITEY, +oI2EikE TEE S,

A\ &1

B! BERE, byTa
VI RBEORIKIZIE+ o
FEELTLESLY,

BOTRLGEDLIZETEESHEE
BEBIBENLHYFET DT, W
DIRWNISIEH3EEL TS,

S\EE

STREIE. RTA4FK
ASSY BRIZF DL
FHEWESIFELTLE
éll\o

@ =

HRlRIE. T—0 DR
BEEITTRERLT
EELTLZELY,

O:=

LIN—, NURIIREZE
FoTBHLAZL TS
LY,

@O =

BROZVGPOERE
KON BIGEIZIEZTE
ZATIFARLTLESLY,

Z5w DS54 J572J)05-% &4t



WiEELEDITEERIR
1) FRISRT &SBBH TOEARVRE LT THLZED,

@K, i, ER., BEEDIMNBIGFH
QW E DIRENEZ (T D157
QR@FRE (40°CLlL) 2155

2) AHEITK. . BRLEERDMSIIBEIE. FOMTRER-THE,
3) YuF—. AVIURETOERITEITTESL,
WEERZ IR HHIIC
THENXDHE R ThEINEBLET., HIFEEELT. ROAESHERISL,

1) BAfTEEAR DHRE - REHRL TSN,
2) BEEHPOHREBONLIEENGVNHEEL TS,
3) HEMEHREL TSN, (FRIBM—EREZIE LS

TRAE—EXR

e =

TSRFARKRY M4x8 FGIN., FGP. FGPX B 41E
TSAFRR M5Xx6 FGX (IAH%FE) F 3{&
FNAERX/NF 5mm 1K
F—TIWT)yT 118

VrybkiR)Le M6x16(EERTHE) 2K
YR RH)a— M6X20 (FryoE{tA) 1K
ESHHR M6 21{&

Bk R ERE 180

BT EmDETIT

1) BAEDOESIZHBRDIBELN—FLNA—RRABIZHRCAHET,
2) =TTy TEREKICERMAITET,

F—=dNT )T
WAL T EHRDE T \
Tk
it o1 & 500.0N
BSASARFARE | 30mm Z& 8 xR
AkOo—%5 50mm
AR 14— M6 1R4EL/S— l
AAEE 15kg B EARIL AS4/K ASSY
=Ny
0 ESHAERARILE
L // 44
o LR—I2k% y
¢ ; Py H =
Ir—25—3 f tit
mitiE ) et
J‘ [J L) 4 g
: i :
‘ —~
H i
AbuRILE  Ai60) : g E
o
‘ L 94 o AlET— 7L
4% g /
3 e 191,53
i
i ol
w0 290 .
341

BIELAN—




BAET—TIILERLINDEE FGJUN*FGP*FGPX &tiBl&hto 24— &
HET—TIL 150 Z

h N
Iy i &l—4&
o b4 b4 >4 b4 o
hd T T T o
3
\
7
/ \\ 2
14-M6  / 60
X 80 FGX(B#iE) EHlsats 4—fiE
130 :

B+ —RT—UBF DA E
FGJN*FGP*FGPX {7 &

FGX (IB##8) BRfT 7 ®E 40 1 b 45
3- ¢ 55 // ¢4
* 75 @ & 48 LU O B4 R 1, L
DFG-0. 2~ 50 (IHZA47)
DBERT,
UAT=E ¢1 10
h 4
o I\ Y
o
& s \ AAE AR
50

BRFO—JREBDOLI =

LN—BEIZEKY, IAr—RT—CDOBHEZHAET LD TY,
50mm DRARO—IHHETEET,

BESAZARRBOLM
LN—BETESAEDRVEIZEL, RSB ASSY BB 5 &Ikl 30mm CEIC8EREDREATEET,

1) KRZHEREICEMNFIT, =TTV TFALTEEET)
2) BIHBARILM DI RNESFFIEEOHET, (COBRILMNISNSAHNIE)
3) RASARERASSY 5 E(FENSINSWNREBORILEEN L TEYGMBIZEEL. BYDIS,FTDRILLEE

BHOITET,
DB, ATARER ASSY ERKEDREIT, 5. FEHFHVESFELTLESLY,




B+ —R5—SDEyDOLM-
1) REEZ AT (HES) CTERHARLMESNL. T+—2F—SEUHRERYSLET .
2) FTRDESIZ. T+—RE —SEBHRIZ I+ — RS —SERT HET .

PR
FGX (a2 ) —XDIHE

FGJUN - FGP - FGPX 1) —X D4

EEPL e S e

/

_ EHR

P—" M4 x8 41#F HER
TEm

3) MYSMLFARILNIT, RAVRRERIZERA TET,

WAL/ N—EAZOLHIT=.
HAEIA—RAT VDO TIHDMBEZEFRO-WEEIZIE., TREEATAMN—LE
ZEAELTLEELY,

RASAKRER ASSY D FIZDL\TWZAAvIFHvhEiEDH 5, 2S5 ARER ASSY
1) BEARILMERLAATIKE, Rhy/ A— i EBRENEEYET,
2) WEBAREYELEDOvIF R EHORARET TF, ™
<&
Wi HOLAE Sfe
AR Z AR FERELSAYLETF—T LD EICBOTLESL, Al !
CEHEIC B TIE. LA—RIEFTEBEF R A—RII— EDESTEM LTS
), LA—BEOREEEL (B, BU) [F. ERAHANTERNMES 7
AHYET, SHEERILE
CEHEIEE . BB T — RS —S DB EEES 2 AN LS
SEBTEL,

- HEHKEVEE, AREEELTCRATAL,
F TA—RE—VITDNTIE, &TH—RS — DI ORIRHABE S SR
S,
ZFyDFS4 570 05— &4t
Z1 WEB X—J TER

HEHE -HSET7+—LTOSHMLEEIETES
https://www.nidec.com/jp/nidec-drivetechnology/inquiry/

ERNERILIIFR

https://www.nidec.com/jp/nidec-drivetechnology/corporate/network/sales/

Copyright NIDEC DRIVE TECHNOLOGY Corporation. All Rights Reserved.

ZFy RS+ I35 D)0 =4t
AABEY Y FBRRHHE 0B F4B10IC (27 v F51T75/OV—HRRH ) I[CHAZELE LT




364-23-089-1

W7/ [ .
Force Gauge Stand

FGS-o0L

Operation Manual

B Safety Precautions

Thank you for purchasing the NIDEC DRIVE TECHNOLOGY product.
To ensure safe use of this product and obtain the best result of the product functions, be sure to read this operation manual before use

of this product.In this operation manual, the levels of hazard defined in safety precautions are classified into the following categories:
[DANGER], [WARNING] and [CAUTION].

DANGER Indicates hazardous conditions that may result in death or serious injury if this product is
improperly handled, and limited conditions that need highly urgent warning in case of hazard.
A WARN I N G Indicates hazardous conditions that may result in death or serious injury if this

product is improperly handled.
CAUTION Indicates hazardous conditions that may result in slight injury or property damage
if this product is improperly handled.
Even if a hazardous level is defined as CAUTION

it may result in serious accident depending on the situation.
Be sure to observe these instructions, because they all provide important information.

After reading this manual, be sure to keep it in the place where users can refer to it anytime.

To ensure safe and proper use of this product, be sure to read this operation
manual carefully before using the product, and thoroughly understand the
handling procedure.

Read Carefully

[Installation and Measurement]

installation.

If this product accidentally falls onto
feet, it causes serious injury. Use
thorough caution when handling this
product.

: This product is heavy. Use
h h i h
A\ DANGER 550220, 20| /AN WARNIN

During measurement, be
careful not to get your
hand or finger caught in the
slide assembly.

workpiece scatter.

@ cromionseria oo e @ CAUTION

Do not move this product by
holding the lever or handle.

Do not install this
0CAUT|ON product in a place with
) high humidity, or a place
where it may be directly

splashed with water.




B Operating precautions

1) Avoid using or storing this product in the following places:

1) A place where this product is exposed to water, oil, chemical or dust.
2) A place where this product is exposed to vibration of other machinery.
3) A place where a high temperature (40°C or higher) is expected.

2) If this product is splashed with water, oil or chemical, wipe it off immediately.
3) Avoid cleaning this product with paint thinner or gasoline.
B Before operation

Make sure that the package contents conform with your order.
Unpack the product, and check the following points:

1) Check the model and type indicated on the attached nameplate.
2) Check the product for damage attributable to transportation.
3) Check the accessories. (Refer to the following accessory list.)

Accessory list

Item Quantity
Cross—recessed pan head screw, M4 x 8, For FGUJN/FGP/FGPX 4pcs
Cross—recessed pan head screw, M5 X6 For FGX (old model) 3pcs
Hexagon wrench, 5 mm 1 pc
Cable grip 1 pc
Socket head bolt, M6 x 16 (for Jig mounting) 2pcs
Set screwM6 x 20 (for film chuck) 1pcs
Plain washer, M6 2pcs
Operation manual 1copy

B Mounting the accessories

1) Screw the supplied operation lever into the lever boss as shown on the right.
2) Attach the cable grip to the stand body.

B Appearance and principal part names Cable grip
Specifications Operation lever
Load capacity 500.0N
Slide height adjusting range 8 levels in 30 mm step
Stroke 50mm
Jig mounting hole 14— M6 )
- Operation lever
Stand body weight 15kg
Mounting bolt Slide assy
Cable grip

Height adjusting bolt

[ L~

(at 4 places)
u) -n/

Lever stroke

(3
N
L=

225

)
Force gauge -
mounting plate / ._f:'."":L_c

» p-
3 2
N
/ -
Stopper bolt @ E
b gy i s
} _g, < c 94 9 Measuring table
T o
ISn)
- o
! 53 19] 53 i¥
i z 3= [ m
m H ¥..\  }
f——— t -
|
| ¥
> or L +
w 230 290

341




B Screw hole positions on measuring table ) , o
FGJUN/FGP/FGPX measuring axis center position

Measuring table 150
& Py 41 &
o 212 ) & 4 o
T T T T 58}
)
')
\
7
/ \\ 1
14-M6  / 60
80 FGX measuring axis center position
(old model)
130 '
B Force gauge mounting hole positions
FGX mounting hole position FG\JN/FGP/FGPX mounting hole pOSitiOn
(old model) 40 045
The mounting holes other than 3- d) 9.5 // -
those indicated by arrows are 1
intended for the DFG-0, and \
DFG-2 to DFG-50 (old types). \¢_ 10

i
"'\‘

575

-
[

—¢ \Stand mounting hole

50

B Stroke adjustment procedure
The force gauge stroke can be adjusted with the lever.
The stroke adjusting range is 50 mm.
B Slide height adjustment procedure
If height adjustment cannot be performed with the lever, 8—level 30 mm—step height adjustment is enabled by moving

the slide assembly.

(@ Lay the stand body with the side facing up. (Remove the cable grip beforehand.)

@ Loosen the height adjusting bolts in three slots out of four. (Do not remove the bolts.)

(@ While raising the slide assembly, remove the bolt from the small hole, and hold the slide assembly at an appropriate
position. Then, tighten the remaining three bolts.

In this step, be careful not to get your hand or finger caught between the slide assembly and the stand body.




B Force gauge mounting procedure

1) Remove the mounting bolts by using the hexagon wrench (accessory), and
remove the force gauge mounting plate.
2) Mount the force gauge to the force gauge mounting plate as shown below.

FGJUN/FGP/FGPX series FGX (old model) series

) Force gauge

_ Mounting plate Mounting plate

Force gauge
Cross—recessed

pan head screw,

M5 x 6 (3 pcs)
(accessory)
/ >

Cross—recessed
¥ —"" pan head screw,
M4 x 8 (4 pcs)
(accessory)

3) Mount the force gauge to the stand body by using the removed bolts.

B Stopper adjustment procedure

To determine the force gauge lower end position during measurement,

adjust the stopper position according to the procedure below.

Loosen the lock nut at the bottom of the slide assembly.

1) As the adjusting bolt is screwed into the slide assembly, the stopper
position is raised. Adjusting range ™
2) After positioning the stopper, tighten the lock nut to complete the

stopper adjustment procedure.

Lock nut

B Measuring procedure

Install the stand body on a level solid table. Adjusting bolt

During measurement, operate the lever at a constant speed as smoothly as possible. If the lever operation speed is rapidly
changed (to a high or low speed), accurate measurement cannot be performed.

During measurement and height adjustment, use thorough caution not to apply impact to the force gauge measuring axis.
The measuring stand can be horizontally installed.

To apply large load, fasten the stand body.

For details on the force gauge, refer to the force gauge operation manual for each model.

NIDEC DRIVE TECHNOLOGY CORPORATION

(Web Page Information) please scan the QR code or access the URL below.

Contact Us
https://www.nidec.com/en/nidec-drivetechnology/inquiry/

Sales Offices
https://www.nidec.com/en/nidec-drivetechnology/corporate/network/sales/

Copyright NIDEC DRIVE TECHNOLOGY Corporation. All Rights Reserved.

NIDEC DRIVE TECHNOLOGY CORPORATION

Nidec Shimpo Corporation change its company name to Nidec Drive Technology Corporation on April 1,2023.




	FGS-50L_jp＆en米(92575E_364-23-089-1).pdf
	FGS-50L_en米(92575E_364-23-089-1).pdf



